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pl -36.51+ 0.00

TP delay [ns]

TVC(Cbch) (o, 7 12

1, pove+Us / 25
po 4265+ 0.0
pl -34.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1)

AL B3 e+Ud | 25
po 4268 0.0
pL -37.64+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nug Zove+ud | 25
po 4277+ 0.0
pl -36.01+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0 7,9

~ 1 nuiz.Usye+us / 25
po 4297+ 0.0
p1 -36.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 7 13

1 nu.usye+Us / 25
- pO 4285+ 0.0
p1 -36.34+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,2)

X~ 1wz z1ie+u4 [ 25
po 4291+ 0.0
p1 -37.9+ 0.0

TP delay [ns]

TVC(cbch) (0,7,6

=1 1uiL016e+U5 / 25
pO 4274+ 0.0
p1 -35.25+ 0.00

10‘0
TP delay [ns]

TVC(eb,oh)=(0, 7, 10

© 1 nuiz,usse+U6 / 25
po 4292+ 0.0
pl -35.83+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0,7,14

- 1 nup,uzse+U5 / 25
pD 4283+ 0.0
pl -35.59 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3)

X~ 1 s L1ve+ud | 25
e po 4284+ 0.0
pL -36.95 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

= 1 num S25e+U5 / 25
= po 4265+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

- Mg, 4Uze+u6/25
pO 4297+ 0.0
p1 -36.66+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

71 nuRsbyve+U5 / 25
po 4294+ 0.0
-35.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,0)

A1

Sz1e+u4 /25
4269+ 0.0
-36.09 + 0.00

TP delay [ns]

TVC(cbch) (08,4

)
~ Ui b4ze+u4 / 25
= pO 4270@
pl -34.95+ 0.00
[ C =28.61[ps/ch]™,_ ]
5(‘) 10‘0 .
TP delay [ns]
TVC(c,b ch) (O 8,8

1L, ru4e+U5 / 25
po 4289+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(Cbch) (o, 8 12

T rnun.zr3e+U5 / 25
4303+ 0.0
-36.91+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,1)

e, po

AT 1nuiLs/e+u4 [ 25
4252+ 0.0
-34.95+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (0 8,5

“nu1z/e+04 /25

4263+ 0.0
-34.37 + 0.00

[ C =29.09 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

-1 nuw. Ybze+us / 25
e DO 4297+ 0.0
pl -35.72+ 0.00

1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 8 13

Tinun.1y/e+u5/ 25
P pO 4312+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (0,8,2)

A1,

= PO
pl

ruse+U4 /25
4266+ 0.0
-35.69 + 0.00

TP delay [ns]

TVC(cbch) (0,86

Ty 432e+04 [ 25
4285+ 0.0
-35.6+ 0.0

0

1000

TP delay [ns]

TVC(cbch) (0, 8 10

1 nuiL (58e+U6 / 25

- DO 4322+ 0.0
L pl -36.74 + 0.00

TP delay [ns]

TVC(Cbch) (o, 8 14

1 nun 5.50e+U5 / 25

e, pD 4311+ 0.0
[ pl -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

e pO

pl

T nunza4e+04 1 25
4285+ 0.0
-36.11+ 0.00

TVC(c,b ch) (0 8,7

pO
pl

1
100

TP delay [ns]

-1 nu base+us / 25
4287+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

po 4312 0.0
pL -36.45+ 0.00

I uuse+u6/25

TP delay [ns]

TVC(c,b ch) (0, 8 15

Fmems pO 4300+ 0.0
pL -36.28:+ 0.00

1y By1e+Us / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

A7 1 nui bbye+ud / 25
po 4237+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- rnuiL, r59e+04 [ 25
pO 4235+ 0.0
p1 -35.41% 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (O 9,8

T rnuiLzr3e+U5 / 25
po 4266+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

1 up,uooe+Us / 25
pO 4265+ 0.0
pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

x- 1L g0 (e+U4 | 25
po 4232+ 0.0
pL -34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nuz.0loe+u4 / 25
pO 4252+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

S gze+us ) 25
po 4256+ 0.0
pL -35.08+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

T nugbl4e+U5 / 25
- pO 4243+ 0.0
pl -34.34+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (0,9,2)

AT 1nuiLsrve+u4 /25
po 4254+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

= 1y Ooge+ud / 25
pO 4251 0.0
pl -35.63+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 9 10

© 1 nuiLy34e+U6 / 25
po 4286+ 0.0
p1 -35.64 + 0.00

1
100

TP delay [ns]

TVC(cbch) (0,9,14

Trnug4r1e+05 /25
pD 4253+ 0.0
pl -34.03+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT 1, r1se+u4 [ 25
- po 4253+ 0.0
pl -35.44+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

- 1nug (29e+U5 / 25
pO 4266+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 9

T zs/e+u6/25
4282+ 0.0
-36.3 + 0.0

TP delay [ns]

TVC(C, bch) (0,9,15

71 nup,zgbe+U5 / 25
e, pO 4268+ 0.0
p1 -34.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

-1 ss1e+04 [ 25
e pO 4261 0.0
-34.14 + 0.00

[ C =29.29 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 4

=i B8be+u4 / 25
- pO 4281% 0.0
p1 -36.52:+ 0.00

50 5
TP delay [ns]

TVC(eb,oh)=(0, 10,8

- i s90e+U4 | 25
e, po 4267+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(Cbch) (o, 10 12

T g, ry1e+U5 / 25
= pO 4306+ 0.0
pl -36.43+ 0.00

P BN |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

A1 L adve+Uad | 25
e, po 4258 0.0
pL -34.29+ 0.00

C =29.16 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 5

rnun z11e+u4 /25
- pO 4290+ 0.0
p1 -37.23+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 10,9

-/ 1uz.40 /e+U5 ] 25
- pO 4282+ 0.0
pL -36.38+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10 13

T nuig szoe+U5 / 25
pO 4302 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000
3000

2000

1000

TVC(CbCh) (0,10,2)

- C = 28.86 [ps/ch]

X~ 1w ssze+U4 [ 25
po 4267+ 0.0
p1 -34.66 + 0.00

50

1
100

TP delay [ns]

TVC(Cbch) (o, 10 6

© 1, 128e+04 [ 25
pO 4289+ 0.0
p1 -36.64 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 10 10

Tnun138e+u6 / 25
po 4294+ 0.0
p1 -36.34 + 0.00

1
100

TP delay [ns]

TVC(CbCh) (o, 10 14

-1 nug.uzoe+Us / 25
pD 4310+ 0.0
pl -36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

[ C =28.73 [ps/ch]

A1z za1e+04 [ 25
po 4282+ 0.0
p1 -34.81+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 7

- 1 nurz.a0se+U5 / 25
pO 4309+ 0.0
p1 -37.05+ 0.00

TP delay [ns]

TVC(Cbch) (0, 10 1

71 nuiL4uYe+U6 / 25
pO 4288+ 0.0
p1 -34.88 £ 0.00

TP delay [ns]

TVC(cbch) (0, 10 15

-1 az1e+U5 [ 25
po 4302 0.0
p1 -36.93 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =,

3000

2000

1000

TVC(CbCh) (0,11,0)

X~ 1 ns1e+U4 /25
4210+ 0.0
-34.61+ 0.00

TP delay

TVC(cbch) (o, 11 4

[ns]

- i b43e+04 / 25
4216+ 0.0
-34.03 + 0.00

= pO
pl
[C=29.39 [ps/ch] ™, 1]
o+ o
TP delay [ns]
TVC(c,b, ch) (0,11,8) —
T Uy 3hbe+Ud 5
g pD 4237:‘
pl -34.62 + 0.00

TP delay

TVC(c,b Ch) (0,11,12

[ns]

X~ 1 uip, 52e+U5 / 25
PO 4256+ 0.0
pl -35.47 + 0.00

TP delay

L n n n n 1 n
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

4000 E,

3000

2000

1000

TVC(CbCh) (0,11,1)

e, po

A 1L r5ae+U4 | 25
4213+ 0.0
pL -35.15+ 0.00

TP delay

TVC(eh.oh)=(0, 11, 5

oz,

[ns]

1e+u4 /25
4243+ 0.0
-34.8 % 0.0

TP delay

TVC(c,b ch) (0, 11

po

[ns]

Tonan2.23e+05 /25
4261+ 0.0
p1 -34.64 + 0.00

TP delay

TVC(c,b ch) (o, 11 13

pO

[ns]

Tinusy41e+U5/ 25
4252+ 0.0
p1 -35.34+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 2,
3000
2000

1000

4000 =
3000
2000

1000

TVC(CbCh) (0,11, 2)

=, PO

X~ 1L 83 /e+u4 [ 25
4227+ 0.0
p1 -35.06 + 0.00

TP delay

TVC(chh) (o, 11 6

e pO

[ns]

T U 23ze+04 [ 25
4264+ 0.0
pl -35.86 + 0.00

TP delay

TVC(e,Deh)=(0, 11, 10

[ns]

X~ 1 715e+U6 / 25
po 4234+ 0.0
p1 -34.04 + 0.00

TP delay

TVC(c,b Ch) (o, 11 14

pD
pl

[ns]

)

-1 nug.gupe+Us / 25
4264+ 0.0
-35.9+ 0.0

TP delay

P R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,3)

e po

&A™ 1 nup.uare+ud [ 25
4235+ 0.0
p1 -34.95+ 0.00

TP delay

TVC(CbCh) (0, 11 7

[ns]

-1 nui bz3e+us / 25
4244+ 0.0
-34.1+ 0.0

TP delay

TVC(Deh)=(0, 11, 11

pO

[ns]

TnaiL/8e+u6 / 25
4252+ 0.0
p1 -34.97 + 0.00

TP delay

TVC(c,b Ch) (o, 11 15

[ns]

)

T nugysie+u5/ 25
4255+ 0.0
p1 -34.67 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (o, 12 0)

-1 i g54e+04 [ 25
e, pO 4261% 0.0
p1 -35.32:+ 0.00

TP delay [ns]

TVC(Cbch) (o, 12 4

- 1nuz 159e+04 / 25
4273+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(eb,oh)=(0, 12,8

- 1. a03e+U4 | 25
- po 4256+ 0.0
p1 -36.58:+ 0.00

TP delay [ns]

TVC(Cbch) (o, 12 12

T rnun.1n1e+U5 /25
po 4265+ 0.0
pl -35.47 + 0.00

PR ISR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0, 12 1)

- L4 e+Ud | 25
e, pO 4273+ 0.0
pl -37.56 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 5

-1 nu zzoe+u4 / 25
o pO 4264+ 0.0
pL -37.15+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 12,9

T inuiyyz/e+u5 /25
- po 4268+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(c,b ch) (0, 12 13

T nu.zyze+U5 [ 25
- pO 4268+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (0,12,2)

X~ 1L r8oe+U4 [ 25
- po 4268+ 0.0
L pl -36.34 + 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 12 6

1 nuig,40pe+04 / 25
- pO 4266+ 0.0
- pl -36.83 + 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T L zs3e+U6 / 25
e po 4279+ 0.0
o pl -36.15+ 0.00

TP delay [ns]

TVC(CbCh) (o, 12 14

~ 1 nu.yy3se+Us / 25
pD 4273+ 0.0
-35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

X1 2 34e+Ud | 25
B po 4292 0.0
p1 -36.83+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 7

Tinan4.91e+u4 /25
frmns, po 4296+ 0.0
p1 -37.15+ 0.00

TP delay [ns]

TVC(Cbch) (0, 12 11

T nui B23e+U6 / 25
po 4288+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 15

-y, 134e+U5 [ 25
pO 4273+ 0.0
-36.05 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

ool ]

ook ]

wor C =29.13 [ps/ch] . 7
L R

4000

3000

2000

1000

TVO(eb.eh)=(0, 13,0)

Tz 1/1e+04 /25
Foo-. pO 4269+ 0.0
p1 -35.92 + 0.00

TP delay [ns]

TVC(eb.ch)=(0. 13, 4

-, 3bze+u4 [ 25
- pO 4288+ 0.0
p1 -36.94 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (0, 13 8

© g, rzoe+U5 / 25
- po 4307+ 0.0
-34.33+ 0,00

TP delay [ns]

TVC(ebeh)=(0, 13, 12

- 1L, 3yze+U6 | 25
= po 4289+ 0.0
p1 -34.28+ 0.00

[ C =29.18 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(eb.eh)=(0, 13, 1)

AT 1 nuiz,s8be+u4 [ 25
e po 4269+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (0,135

“nun15ye+u4 / 25
b pO 4294+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (o, 13

Tonan2.28e+U6 / 25
- po 4320+ 0.0
p1 -34.21+ 0.00

[ C =29.23 [ps/ch] . ]

1
B 00

TP delay [ns]

TVC(e,beh)=(0, 13, 13

T a3 /4e+U6 / 25
= pO 4290+ 0.0
p1 -35.56 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

TVO(eb.eh)=(0, 13,2)

= PO

X~ 1 i/ uBze+u4 | 25
4271 0.0
p1 -35.49 £ 0.00

TP delay

TVC(eb.ch)=(0. 13,6

= o

[ns]

-1y, r31e+05 / 25
4308+ 0.0
-37.1+ 0.0

TP delay

TVC(cbch) (0, 13 10

[ns]

=1 nuig 135e+U6 / 25
4335+ 0.0
-34.42 + 0.00

4000 pO
[ Pl
3000:— 7]
2000:— _
w00~ C = 29.05 [pS/Ch] - ]
1 1 sk
: 5 T00
TP delay [ns]

4000

3000

2000

1000

TVC(ebeh)=(0, 13, 14

pD
pl

- 1L, 3U3e+U6 / 25
4289+ 0.0
-34.89 + 0.00

- C = 28.66 [ps/ch]

P R |
G 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Eeb.eh)=(0, 13,3)

e po

A~ 1 nuiz,s82e+U5 [ 25
4289+ 0.0
pL -37.09+ 0.00

TP delay

TVC(ebeh)=(0, 13, 7

pO
pl

[ns]

-1 U 3bbe+us / 25
4295+ 0.0
-36.38 + 0.00

TP delay

TVC(cbch) (o, 13 11

pO

[ns]

T nuig bz /e+u6 / 25
4334+ 0.0
pl -35.36 + 0.00

TP delay

TVC(cbch) (0,13,15

e pO
p1

[ns]

-1 g3be+U6 / 25
4306+ 0.0
-36.3+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (o, 14 0)

T rnuiLbroe+u4 [ 25
4237+ 0.0
-36.44 + 0.00

TP delay [ns]

TVC(cbch) (0,144

pO
pL

T Ly r3e+u4 / 25
4255+ 0.0
-34.66 + 0.00

[ C =28.85 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (0, 14 8

1L 4n0e+U5 / 25
= po 4253+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (0,14,12

1, 5oze+U5 / 25
pO 4269+ 0.0
pl -35.82+ 0.00

PR
100

TP delay [ns]

4000
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pO 4249+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nu.243e+04 [ 25
pO 4278+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

~ 1 nu. ysye+us / 25
pO 4304+ 0.0
p1 -36.02 £ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

T inuz1u1e+U5/ 25
pO 4296+ 0.0
p1 -35.72+ 0.00

TP delay [ns]
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2000

1000

TVC(cbch) (1,52)

T zsre+u4 /25
pO 4254+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

TVC(cbch) (1,556

T rnu3s1e+u4 / 25
pO 4296+ 0.0
367+ 0.0

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

1000

1 nuiLb4pe+U6 / 25
po 4312+ 0.0
p1 -36.67  0.00

TP delay [ns]

TVC(cbch) (1,5,14

© i 3yse+Us / 25
pD 4295+ 0.0
p1 355+ 0.0

TP delay [ns]
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1000

TVC(cbch) (1,5,3)

AT 1 nuz4o1e+U4 /25
po 4262+ 0.0
p1 -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (1 57

= 1nup S10e+ud / 25
po 4295+ 0.0
p1 -35.53+ 0.00

TVC(c,b ch) (1, 5

TP delay [ns]

T 45ue+u6/25
pO 4319+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

Tinuan z.ae+U5/25
pO 4305+ 0.0
p1 -35.53+ 0.00

TP delay [ns]
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1000

TVC(cbch) (1,6,0)

X~ 1 i sube+U4 / 25
po 4248+ 0.0
p1 -37.05+ 0.00

TP delay [ns]

TVC(cbch) (16,4

= rnuiL9/1e+04 /25
po 4275+ 0.0
pl -36.71+ 0.00

TP delay [ns]
TVC(cbch) (1 6,8) —
T 1 nuyg u4ge+ud 5
= pD 4273:‘
-34.78 + 0.00
rC=28.75[ps/ch] N\ 1
- o
TP delay [ns]
TVC(c,b ch) (1, 6 12

T g, sose+us / 25
po 4280+ 0.0
pl -37.12+ 0.00
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TVC(cbch) (1,61

AT rnuiLBr1e+u4 /25
- po 4252+ 0.0
p1 -36.59 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

T nu 3z3e+04 / 25
pO 4272+ 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

1 nuis.ayse+U5 / 25
pO 4288+ 0.0
p1 -35.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 6 13

T inuiLorse+us [ 25
pO 4278+ 0.0
p1 -36.32+ 0.00

PR R SR |
50 100
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TP delay [ns]

TVC(cbch) (16,6

K™ 1nuig 340e+04 25
-, po 4260+ 0.0
L pl -37.39+ 0.00

3000

T, rz3e+04 [ 25
e pO 4274+ 0.0
[ pl -35.64+ 0.00

TP delay [ns]

TVC(eb,oh)=(1, 6, 10

1000

T nuiL133e+U6 / 25
po 4296+ 0.0
p1 -34.79 + 0.00
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TVC(cbch) (1,614

T,/ rge+U5 [ 25
E pD 4271+ 0.0
L p1 -35.97 + 0.00
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A~ 1 iz Usbe+ud | 25
- po 4266+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,7

= 1nu 63 /e+U4 / 25
= po 4271+ 0.0
p1 -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

RIS zzse+u6/25
k. pO 4285+ 0.0
p1 -34.47 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6 15

T inuiz gy /e+u5/ 25
po 4262+ 0.0
p1 -36.05+ 0.00

TP delay [ns]
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- 1L Bule+ud / 25
4252+ 0.0
pl -36.74 + 0.00

- pO
- C N
1 1 -
50 100
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TVC(cbch) (1,7,8)
T nun g1ze+u4 [ 25
= po 4272+ 0.0
pl -36.33+ 0.00
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- 1nuig,5uze+U5 / 25
4274+ 0.0
-35.32+ 0.00
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4257+ 0.0
-36.3+ 0.0
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TP delay

TVC(c,b ch) (1, 7

- pO

[ns]

-1 nuz.01be+u4 / 25
4250+ 0.0
pl -36.51+ 0.00
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TP delay

TVCEebeh)=(1,7,9

po

[ns]

T nun 3o5e+U5 / 25
4268+ 0.0
p1 -35.61+ 0.00

1
50 00

TP delay

TVC(c,b Ch) (1, 7 13

[ns]

T inuip31e+U5/ 25
4279+ 0.0
p1 -36.28 + 0.00

TP delay
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TVC(cbch) (1,7,2)

= P°

T za/e+ud /25
4249+ 0.0
p1 -35.55 + 0.00

TP delay

TVC(cbch) (17,6

pO
p1

[ns]

-1 Uz, 248e+06 / 25
4287+ 0.0
-36.65 + 0.00

TP delay

TVC(ebeh)=(1, 7, 10

pO
pl

[ns]

T nuiLuYe+U6 / 25
4270+ 0.0
-35.66 + 0.00
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100
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TVC(cbch) (1,7,14
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T rnuiL41e+U5 / 25
4273+ 0.0
-35.36 + 0.00
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-36.56 + 0.00
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-1 nui 10be+u5 / 25
4274+ 0.0
-37.15+ 0.00
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TVC(c,b ch) (L7,

1)
T naiz/ze+U6 / 25
4280+ 0.0
-36.29 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 7 15

-1 nuiz byze+U5 [ 25
4280+ 0.0
-35.54+ 0.00

1
100

TP delay [ns]
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pL

roze+U4 /25
4228+ 0.0
-36+ 0.0

TP delay [ns]

TVC(cbch) (18,4

T b3 /e+u4 [ 25
4270+ 0.0
-37.74+ 0.00

- pO
p1
[ C =26.50[ps/c ]
5(') 100 =
TP delay [ns]
TVC(c,b ch) (1, 8 8
= pD

- nugyre+ud [ 25
4259+ 0.0
-36.53 + 0.00

TP delay [ns]

TVC(cbch) (1,812

-1 nug,

po
p1

125e+U5 /25
4287+ 0.0
-36.36 + 0.00

P R |
50 100
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A~ 1 nuiz,usbe+u4 | 25
4258+ 0.0
-37.03+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 8

- 1nuiLy4re+u4 [ 25
4262+ 0.0
-37.27 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

-1 nuws, 790e+U5 / 25
4275+ 0.0
-35.98 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 8 13

-1 nuiz bu4e+U5 / 25
4268+ 0.0
-35.16 + 0.00
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100

TP delay [ns]
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TVC(cbch) (1,8,2)

= po

A~ 1nuig 3yae+ud | 25
4260+ 0.0
-36.62:+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,86

- 11Uy .495e+04 | 25
4263+ 0.0
-36.97 + 0.00

= PO

r o

L C = 27.05 [ps/ch .
, o

TP delay [ns]

TVC(eb,oh)=(1, 8, 10

pO
pl

T nuiLb13e+U6 / 25
4282+ 0.0
-35.83+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,8 14

pD

pl

~1nuig, 1o8e+U5 / 25
4287+ 0.0
-36.88 + 0.00
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x- 1 iz daae+Ud | 25
4264+ 0.0
-36.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nui U34e+U5 / 25
4262+ 0.0
-37.05+ 0.00

= pO
pL
- C =
| "=
50 100
TP delay [ns]

TVC(c,b ch) (1, 8

pO
pl

T 4zue+u6/25
4276+ 0.0
-35.81+ 0.00

1
100

50
TP delay [ns]
TVC(c,b ch) (1, 8 15

pO
p1

~ 1 nuis.u4ae+U5 / 25
4285+ 0.0
-35.7+ 0.0

1
100

TP delay [ns]
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TVC(cbch) (1,9,0

A~ nui ozze+04 | 25
e po 4249+ 0.0
p1 -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (1,94

=i Lsze+04 [ 25
== po 4265+ 0.0
pl -36.25+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1 9,8

- ds1e+04 1 25
e po 4232+ 0.0
p1 -33.92:+ 0.00

4000

3000 - 7

2000 - 71

wof C = 29.48 [ps/ch] ™, ]

| - o
TP delay [ns]
TVC(CbCh) (1, 9 12
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1000

- nuu74e+U5 /25
po 4254+ 0.0
p1 -34.65+ 0.00
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1000
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1000

TVC(cbch) (1,91

AT 1 nuiLbroe+u4 | 25
- po 4260+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

-1 nuz.0uze+u4 / 25
4279+ 0.0
-36.7 £ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (1 9,9

~ 1 naiUzse+us / 25
- pO 4257+ 0.0
p1 -34.52+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

T 1 nui r90e+U5 / 25
ovese, pO 4243+ 0.0
p1 -34.08 + 0.00

TP delay [ns]
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2000

TVC(cbch) (1,9,2)

TP delay [ns]

TVC(cbch) (1,96

1000

X~ 1L gs1e+U4 [ 25
- po 4256+ 0.0
L pl -36.17 + 0.00

3000

©1nui,4u4e+04 | 25
- pO 4285+ 0.0
- pl -36.91+ 0.00

TP delay [ns]

TVC(eb,oh)=(1, 9, 10

Tl 14/e+06 / 25
F po 4272+ 0.0
L pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (1,914

1000

-1 nuig,uupe+Us / 25
e pD 4248+ 0.0
L p1 -35.19+ 0.00

TP delay [ns]
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TVC(cbch) (1,9,3

A1 nuiz0r1e+ud [ 25
- po 4291+ 0.0
pL -37.97+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

= 1 nui Tsye+us / 25
= po 4285+ 0.0
p1 -35.97 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

T, 4J_Le+u6125
pO 4260+ 0.0
pl -33.92+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9 15

1 nuis sbye+u5 / 25
pO 4255+ 0.0
p1 -34.17 + 0.00

TP delay [ns]
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TVC(CbCh) (1, 10 0)

- 1 i 4ove+u4 [ 25
= pO 4252+ 0.0
p1 -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 4

i 73e+04 [ 25
== po 4237+ 0.0
pl -34.42 + 0.00

[ C =29.05 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (1,10,8

T rnuiLzse+U5 / 25
- pO 4283+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 12

“rnu zy4e+U5/ 25
4270+ 0.0
-33.85+ 0.00

[ C=29.55[ps/ch] ™. 1

L n n n n 1
50 100
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4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

A™rnun 153e+u4 /25
= po 4268+ 0.0
p1 -35.83 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 5

- nuiLgrze+u4 [/ 25
e pO 4239+ 0.0
pL -35.08+ 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

71 nub.o3be+U5 / 25
po 4280+ 0.0
p1 -35.79+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 10 13

T 1 nuiLvbze+u5 / 25
= pO 4274+ 0.0
p1 -32.9+ 0.0

[ C=30.39 [ps/ch] ™._ 1
L s
TP delay [ns]
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1000

TVC(CbCh) (1,10,2)

X~ 1 i bY1e+ud [ 25
-, po 4254+ 0.0
[ p1 -34.92:+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 10 6

©1nuiz,uy4e+u4 | 25
e pO 4258+ 0.0
- pl -35.33 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

T nuiL3u/e+U6 / 25
po 4293+ 0.0
p1 -36.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 14

Tz 1o/e+U5 /25
F pD 4277+ 0.0
L pl -34.84 + 0.00
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A1 nuzbr3e+ud [ 25
- po 4250+ 0.0
pL -34.61+ 0.00

[ C =28.89 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (1, 10 7

~ 1 nuy.ubse+u4 25
= po 4268+ 0.0
p1 -35.61+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuiz 193e+U6 / 25
= po 4315+ 0.0
p1 -37.89+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 15

T nuiz.usve+us / 25
Frosee pO 4260+ 0.0
p1 -33.63+ 0.00

[ C=29.73 [ps/ch] ™. ]

P

n n n 1 n
50 100

TP delay [ns]
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1000

TVC(CbCh) (1,11,0)

X~ 1L bsbe+U4 [ 25
= po 4257+ 0.0
-37.11+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (1, 11 4

- UL p34e+04 [ 25
== po 4261+ 0.0
pl -35.77 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,11,8

T L g3 /e+U5 / 25
= pO 4281+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 12

T g zoze+U5 / 25
po 4288+ 0.0
pl -35.88+ 0.00

L n n n n 1 n
50 100
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= pO 4266+ 0.0
p1 -36.4 £ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 11 5

~ ULy be+u4d / 25
4257+ 0.0
-36+ 0.0

50 150
TP delay [ns]

TVC(cbch) (1,11,9

T nuiL144e+06 / 25
- po 4298+ 0.0
p1 -37.35+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 13

1 nuiz soge+us / 25
pO 4288+ 0.0
p1 -36.39+ 0.00

TP delay [ns]
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X~ 1z uole+ud [ 25
P, po 4282+ 0.0
[ p1 -37.26+ 0.00
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TP delay [ns]

TVC(c,b Ch) (1, 11 6

-1 bYpe+u4 [ 25
- pO 4275+ 0.0
[ pl -36.06 + 0.00

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

T 15/e+U6/25
= po 4312+ 0.0
- pl -36.63 + 0.00

TP delay [ns]

TVC(c,b Ch) (1,11, 14

X~ 1z 381e+U5 /25
po 4285+ 0.0
pl -37.13+ 0.00
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TVC(c,b Ch) (1, 11 7

-1 nui 19ze+U5 / 25
4282+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(Ebeh=(1, 11, 11

T nuig.zzze+U6 | 25
k. pO 4312+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 15)

- g 2u4e+U5 [ 25
= pO 4294+ 0.0
p1 -37.3+ 0.0

TP delay [ns]
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S i1 b3e+u4 /25
- pO 42254 0.0
pl -35.18:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

T rnugusie+u4 / 25
= po 4250+ 0.0
pl -35.56 + 0.00
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pO 4241+ 0.0
pl -34.81+ 0.00
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TVCEebeh)=( 1, 12,9

T nug.zo3e+U5 / 25
. pO 4248+ 0.0
p1 -34.18 + 0.00
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[ns]

T g 5o/e+U5 / 25
4271+ 0.0
pl -34.57 + 0.00

TP delay

[ns]
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-35.81+ 0.00

A,

o po
pL

TP delay [ns]

TVC(c,b ch) (2 3,7

pO
pl

- 1nu 3nle+us / 25
4245+ 0.0
-34.98 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

pO
pl

T baue+u6/25
4296+ 0.0
-35.64 + 0.00

TP delay [ns]

TVC(C, bch) (2,315

[Foes, pO

T nup.zzze+U5 / 25
4273+ 0.0
-35.77+ 0.00

TP delay [ns]
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1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

X~ 1 i 5ube+U4 / 25
po 4257+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(cbch) (24,4

- 1L 4gbe+ud [ 25
po 4263+ 0.0
pl -35.78 + 0.00

- C =
o+ o
TP delay [ns]
TVC(cbch) (2 4,8

-1 1 rye+ua [ 25
pD 4302+ 0.0
p1 -38.24+ 0.00

TP delay [ns]

TVC(cbch) (2,4,12

po
p1

-1 nuig.yove+us / 25
4290+ 0.0
-34.47 + 0.00
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pO 4243+ 0.0
pL -34.49+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,5

=11 byoe+u4 / 25
pO 4272+ 0.0
pL -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (24,9

~ 1 nuiy.Y4ne+U5 [ 25
pO 4304+ 0.0
p1 -37.11+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

pO
p1

T inugn3ze+u5 [ 25
4276+ 0.0
-34.9+ 0.0

TP delay [ns]
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3000
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1000

0

4000
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2000

1000

TVC(cbch) (2,4,2)

X~ 1L 7z8e+04 [ 25
- po 4251+ 0.0
[ p1 -35.27+ 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

1000

-1z, 0obe+u4 / 25
- pO 4284+ 0.0
[ pl -36.74+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

1 nuiL3u3e+U6 / 25
po 4317+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (24,14

Tzl e+Us /25
4280+ 0.0
pl -34.98 + 0.00
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TVC(cbch) (2,4,3

A~ 1 nuiLbzse+ud [/ 25
- po 4275+ 0.0
pL -36.28:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 4,7

= 1nu 28 e+04 | 25
= po 4279+ 0.0
p1 -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (2,4,

T bU‘Je+U6/25
k. pO 4320+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (2,4,15

X1,

153e+U5 / 25
4282+ 0.0
-34.87 + 0.00

TP delay [ns]
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pl -35.78+ 0.00
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- 1L yyge+ud / 25
e pO 4242+ 0.0
pl -36.29+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 5,8

Tu1uYe+u5 /25
PD 4263+ 0.0
pl -34.4+ 0.0

[ C =29.07 [ps/ch]

1
0 50 100
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T rnug5r1e+U5 /25
pO 4279+ 0.0
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- 1nu Zloe+u4 / 25
pO 4254+ 0.0
pL -36.88+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

Tinan /pbe+us / 25
4280+ 0.0
-34.3+ 0.0

TP delay [ns]

TVC(C, bch) (2,5,13

Tonan3.zze+05 /25
pO 4286+ 0.0
pl -33.91+ 0.00
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=, po 4277+ 0.0
o pl -36.5+ 0.0

3000

©11ug.449e+04 | 25
e pO 4255+ 0.0
u pl -35.88 + 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

1000

1 nuiL435e+U6 / 25
__ DO 4289+ 0.0
- pl -34.73 + 0.00

TP delay [ns]
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~ 1 nuig,ozoe+U5 / 25
4292+ 0.0
-34.79 + 0.00
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=, po 4276+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (2 57

- 1nu b13e+U5 / 25
e, pO 4259+ 0.0
pL -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T baue+u6/25
4292+ 0.0
-34.2+ 0.0

TP delay [ns]

TVC(C, bch) (2,5,15

T inun, 3 70e+U5 / 25
= pO 4278+ 0.0
p1 -34.54+ 0.00

TP delay [ns]
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X~ 1w zaze+U4 [ 25
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pl -35.28+ 0.00
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TVC(cbch) (26,4

- i bzoe+ud / 25

pl -36.03+ 0.00

pO 4275+ 0.0
pl -32.86 + 0.00

rc= 3044[ps/ch] ~ ]
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X1 wizdsierud | 25
= po 4260+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 i bube+u4 / 25
- 4316+ 0.0
-34.82 + 0.00

[ C=28.72 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

T inug.z4/e+04 /25
- po 4318+ 0.0
pl -35.63 + 0.00

TP delay [ns]

TVC(C, bch) (2,6,13

Tonan 3.30e+ud [ 25
P pO 4281+ 0.0
pl -34.59 + 0.00

I C =28.91 [ps/ch]

PR BRSNS |
50 100
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TVC(cbch) (2,6,2)

K™ 1nuzolae+u4 /25
- po 4268+ 0.0
o pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.31 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

1000

~1nug.go1e+U5 / 25
- po 4338+ 0.0
[ pl -36.28 + 0.00

T i 713e+04 [ 25
- pO 4311% 0.0
[ pl -35.32+ 0.00

TP delay [ns]
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Tz, r44e+04 | 25
F pD 4285+ 0.0
L pl -35.19+ 0.00
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TVC(c,b ch) (2 6,7

=1 nui Buge+u4 / 25
- pO 4314+ 0.0
p1 -34.79+ 0.00

[ C =28.74 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

Ty, za4e+u5/25
- po 4333+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (2,6,15

T nuisy4ne+ud [ 25
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-34.78 + 0.00
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po 4255+ 0.0
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TP delay [ns]

TVC(cbch) (2,7,4

- 1nuz.443e+04 / 25
4240+ 0.0
-34.8+ 0.0

TP delay [ns]

TVC(ebeh)=(2,7,8

T, ro1e+U5 / 25
4259+ 0.0
-35.2+ 0.0
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po 4265+ 0.0
pl -36.32+ 0.00
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p1 -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

- U Blse+u4 / 25
pO 4241+ 0.0
p1 -34.81% 0.00

TP delay [ns]

TVC(c,b ch) (2,7,9

<1 nuiLU40e+U6 / 25
4264+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 7 13

T a3/ /e+U5/ 25
pO 4257+ 0.0
p1 -35.4+ 0.0
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X~ 1wz naze+U4 [ 25
- po 4276+ 0.0
L pl -37.61+ 0.00
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TP delay [ns]

TVC(cbch) (2,7,6

1000

- rnuiy 18ze+04 [ 25
4268+ 0.0
-35.3+ 0.0

=

TP delay [ns]

TVC(ebeh)=(2, 7, 10

Tz 1 rge+U6 / 25
po 4260+ 0.0
p1 -35.04 + 0.00

TP delay [ns]

TVC(cbch) (27,14

- 1wy us4e+Us / 25
pD 4264+ 0.0
pl -35.78+ 0.00

M R I B
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po 4274+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

-1 nuz.9ase+us / 25
e, pO 4260+ 0.0
p1 -35.18+ 0.00

TP delay [ns]

TVC(c,b ch) (2,7,

T, 44ue+u6/25
po 4277+ 0.0
p1 -35.11+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

-1y Jae+u5 | 25
pO 4271£ 0.0
pL -36.15+ 0.00

TP delay [ns]
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p1 -35.26 + 0.00

TP delay [ns]

TVC(cbch) (28,4

- 1L obae+u4 [ 25
po 4282+ 0.0
pl -34.66 + 0.00

[C=28.85[ps/ch] ™, 1
o+ o
TP delay [ns]
TVC(cbch) (2 8,8

-y duse+ud 1 25
po 4283+ 0.0
p1 -36.02:+ 0.00

TP delay [ns]

TVC(cbch) (2,812

Ty gz ie+U5 /25
pO 4310+ 0.0
pl -35.91+ 0.00
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TP delay [ns]

TVC(c,b ch) (2 8,5

- nuiLyl/e+u4 [ 25
- pO 4277+ 0.0
pL -33.86+ 0.00

[ C=29.54 [ps/ch] ™ 7]

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

Tinung14e+05 /25
= pO 4281+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

71 nuig bbye+u5 / 25
4295+ 0.0
-36.1+ 0.0
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TP delay [ns]

TVC(cbch) (28,6

X~ 1L 835e+04 [ 25
- po 4289+ 0.0
[ p1 -35.28+ 0.00

3000

- C = 29.18 [ps/ch] ™.

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10

Ty 4/9e+04 [ 25
- pO 4294+ 0.0
[ p1 -34.28+ 0.00

T nuiLbrze+U6 / 25
po 4293+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(Cbch) (2, 8 14

T y.poe+u5/ 25
pD 4307+ 0.0
pl -35.94 + 0.00
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_L L

TP delay [ns]

TVC(c,b ch) (2 8,7

- rnug 11 /e+u5/ 25
- pO 4304+ 0.0
p1 -35.41% 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

EEALEVX u51e+u6/25
pO 4311+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

- 1 nuiLUb4e+UB | 25
b, pO 4317+ 0.0
pL -37.2+ 0.0

TP delay [ns]
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-35.14 + 0.00
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TP delay [ns]

TVC(cbch) (2,94

- rnuz,u83e+u4 / 25
- pO 4259+ 0.0
pl -37.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 9,8

1 nuiL pgye+Us / 25
= po 4255+ 0.0
p1 -35.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,9,12

T, ro3e+U5 / 25
pO 4251+ 0.0
pl -36.38+ 0.00
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TVC(cbch) (2,9,1)
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AT 1 nuiLyzae+u4 [ 25
4227+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

T nu zz3e+u4 [ 25
pO 4264+ 0.0
pL -37.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,9

~ 1 nuiy.Y4se+U5 [ 25
po 4262+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,13

71 nuis.pu4e+U5 / 25
pO 4245+ 0.0
pl -35.85+ 0.00
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TP delay [ns]
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©1nub.041e+04 / 25
pO 4254+ 0.0
pl 36+ 0.0

TP delay [ns]

TVC(cbch) (2, 9 10

T nuiL4/pe+U6 / 25
po 4276+ 0.0
p1 -34.98 + 0.00

TP delay [ns]
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T vy s14e+05 / 25
pD 4256+ 0.0
pl -36.8+ 0.0
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100

TP delay [ns]

= 1 i buse+us / 25
pO 4282+ 0.0
pL -37.86+ 0.00
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100
TP delay [ns]

T, /dbe+U6/25
po 4273+ 0.0
pl -35.54 + 0.00

1
100

TP delay [ns]

TVC(C, bch) (2,9,15

T nug s15e+U5 / 25
pO 4250+ 0.0
p1 -36.06 + 0.00

TP delay [ns]
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- 1L yobe+ud / 25
4249+ 0.0
pl -35.07 + 0.00

== po
- C=28.52[ps/ch]y, 7
% i
TP delay [ns]

TVC(cbch) (2, 10 8

1 nuiLuyge+Us / 25
4271+ 0.0
pl -36.13+ 0.00

TP delay

TVC(cbch) (2,10,12
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T, (11e+U5/ 25
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50 100
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TP delay [ns]
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-1 nup,u3ve+u4 / 25
4281+ 0.0
pl -35.86 + 0.00
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S(I) 10‘0
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pl
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T 1nuiLblL/e+U6 / 25
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-36.23 + 0.00
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100
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TVC(c,b ch) (3, 1 15

71 nuis 1bae+U5 / 25
= pO 4264+ 0.0
p1 -35.09 + 0.00

TP delay [ns]
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4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

X~ 1 osze+U4 [ 25
- po 4222+ 0.0
p1 -35.59 + 0.00

TP delay [ns]

TVC(cbch) (3,24

- rnuzlr3e+ud [ 25
= po 4230+ 0.0
pl -35.51+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 2,8

- s Zoze+Ud | 25
e, po 4273+ 0.0
p1 -35.58:+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T, 1zze+05 / 25
4272+ 0.0
-35.3+ 0.0

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

A1 1L 0ave+U4 | 25
po 4245+ 0.0
pL -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nu.Z3ye+u4d [/ 25
pO 4257+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

1 nuig.ag8e+Us / 25
po 4283+ 0.0
p1 -36.24 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

T inuib/4e+U5/ 25
pO 4275+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

X~ 1 i B1oe+U4 [ 25
- po 4251+ 0.0
L pl -37.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

T 2 poe+U4 / 25
4255+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(CbCh) (3, 2 10

1000

0

Ty rze+U6 /25
- po 4314+ 0.0
- pl -37.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

~ 1L gose+Us / 25
pD 4267+ 0.0
p1 -35.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

A1 nuiLY1ze+ud [ 25
- po 4251% 0.0
pL -37.1+ 0.0

TP delay [ns]

TVC(c,b ch) (3 2,7

= i Oz4e+U5 / 25
= po 4257+ 0.0
p1 -35.69 + 0.00

TP delay [ns]

TVC(eheh=(3, 2,

Sy s/e+u6/25
pO 4308+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

-1 nuiz ouse+US / 25
po 4281+ 0.0
p1 -35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

A~ 1 nui Szoe+u4 [ 25
= po 4242+ 0.0
p1 -35.69+ 0.00

TP delay [ns]

TVC(cbch) (3,34

- iS5y /e+u4 [ 25
== po 4262+ 0.0
pl -34.22 + 0.00

[ C =29.22 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

©1nug.4z9e+04 | 25
= pO 4263+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (3,312

~ g, 140e+U5 / 25
4278+ 0.0
-35.71+ 0.00

L n n n n 1
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000
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2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,31

A iS5 1ae+Ud | 25
e po 4251+ 0.0
pL -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

- nuiL grze+u4 [ 25
4275+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (3 3,9

T nugp3/e+U5/ 25
pO 4264+ 0.0
p1 -34.54 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

T inugbize+us/ 25
pO 4281+ 0.0
pl -35.83+ 0.00

TP delay [ns]
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2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

X~ 1L 85 /e+U4 [ 25
. po 4266+ 0.0
L pl -35.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,36

1000

- 11ug.u34e+04 [ 25
- pO 4284+ 0.0
[ 355+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

1 nuiL444e+06 / 25
- po 4288+ 0.0
[ p1 3534+ 0,00

TP delay [ns]

TVC(cbch) (3,314

- 1L,y r4e+U5 [ 25
5 pD 4266+ 0.0
L p1 -35.79+ 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (3,33

- po 4264+ 0.0
pL -34.55+ 0.00

A1 nuz0roe+ud [ 25

[ C =28.94 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

po 4296+ 0.0
pl -34.53 % 0.00

-1 nui b1ve+U5 / 25

[ C =28.96 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (3, 3

= pO 4290+ 0.0

nurg 4/5e+u6/25

36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

E po 4286+ 0.0
p1 -36.32  0.00

1nuig,1/3e+U5 / 25

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (3,4,0)

K- 1nuiLare+ud 25
4248+ 0.0
-36.66+ 0.00

TP delay [ns]

TVC(cbch) (34,4

T L r5e+u4 / 25
4282+ 0.0
-36.03+ 0.00

= pO
p1
FC N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (34.8)
T Z2.0oe+U5/ 25
= pO 4258+ 0.0
pl -34.27 + 0.00

TP delay [ns]

TVC(Cbch) (3, 4 12

po
p1

T, 3y1e+U5 / 25
4282+ 0.0
-36.29+ 0.00

P R |
50 100

TP delay [ns]
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1000

4000 E,
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2000

1000

TVC(cbch) (3,4,1)

- po

A1 L (aae+U4 | 25
4245+ 0.0
-36.2+ 0.0

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 4,5

F- pO

“nu Z33e+u4 [ 25
4287+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

e, po

pl

1 nuiL 3z24e+06 / 25
4269+ 0.0
-34.67 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 4 13

T nuis B 0e+u5 / 25
4270+ 0.0
-37.09+ 0.00

il
100

TP delay [ns]
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3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (3,4,2)

b po

X~ 1L yz8e+u4 [ 25
4240% 0.0
-35.76 + 0.00

pl

TP delay [ns]

TVC(cbch) (34,6

©1nuie,1/4e+04 | 25
4295+ 0.0
-37.31+ 0.00

p- o

L pl

L C = 26.80 [ps/ch .
, s

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

pO
pl

© 1z, 128e+06 / 25
4277+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(Cbch) (3, 4 14

T g.13e+U5/25
F pD 4269+ 0.0
L p1 -36.69+ 0.

-36.69 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (3.4,3)

e, pO

“rnun zooe+ud [ 25
4261+ 0.0
-36.8 + 0.0

pl

TP delay [ns]

TVC(c,b ch) (3 4,7

pO
pl

-1 nuz.04/e+U5/ 25
4297+ 0.0
-35.86 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 4

EEALEVX uabe+u6/25
4280+ 0.0
-34.69 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15

T nun.plae+U5/ 25
4270+ 0.0
-35.91+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000
3000 [ ]
2000 = 7
1000 C ]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (3 5,8)
© iy 338e+u4 [ 25
4000 fae, pD 4290+ 0.0
p1 -34.92 + 0.00
3000 - ]
2000~ 7]
w00 C = 28.64 [pS/Ch] ]
1 1 -
b 50 100

4000

3000

2000

1000

TVC(cbch) (3,5,0

K™ 1 nuiazie+04 25
e po 4254+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- UL gz0e+u4 [ 25
== po 4266+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

1 up,gEve+Us / 25
e po 4337+ 0.0
pl -36.17 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

X 1L 7abe+Ud | 25
e, po 4281+ 0.0
pL -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

“nuiLyr3e+u4 / 25
- pO 4255+ 0.0
p1 -34.71% 0.00

[ C =28.81[ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (3 59

T nu.4/0e+U5 / 25
pO 4312+ 0.0
p1 -35.17 + 0.00

[ C =28.43 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

Tinuig 1y /e+u5/ 25
- pO 4330+ 0.0
p1 -36.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

AR 51)4e+06/25

4000 e, pO 4321+ 0.0

[ pL -34.69 + 0.00
a000|- 7]
2000 - ]
oo C = 28.83 [ps/ch] ™. 7]

- - 1

[ -

L 1
d 50 100

4000

3000
2000

1000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

A~ 1nui Yoae+ud [ 25
- po 4285+ 0.0
[ p1 -35.86+ 0.00

3000

T nuzyyle+ud | 25
- pO 4258+ 0.0
- pl -34.39 + 0.00

- C =29.08 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 5, 10

TP delay [ns]

TVC(Cbch) (3, 5 14

~ vy, s5pe+U5 / 25
- pD 4330+ 0.0
L pl -36.69 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

A~ 1 nuiz, 18be+ud | 25
- po 4292+ 0.0
pL -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

= Ui Base+us / 25
= po 4266+ 0.0
p1 -34.31% 0.00

[ C =29.15 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (3, 5

T 4z4e+u6/25
pO 4328+ 0.0
p1 -34.81+ 0.00

[ C=28.73 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

-1 g saze+U5 [ 25
- pO 4342 0.0
pL -36.76+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (3,6,0

K- 1 nuiLasre+ud [ 25
= po 4226+ 0.0
p1 -34.16 + 0.00

[ C =29.28 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (36,4

- 1 i bbge+ud / 25
- pO 4294+ 0.0
p1 -36.67:+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

~1nuz14pe+05 / 25
po 4279+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(Cbch) (3, 6 12

-1 nug.uLse+Us / 25
po 4263+ 0.0
pl -34.99 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1

AT 1 nuiLbzoe+ud [ 25
- po 4238+ 0.0
p1 -34.62+ 0.00

[ C =28.88 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nuz.yl4e+u4 [ 25
e, pO 4311£ 0.0
p1 -37.46+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

1 nuiL B20e+u6 / 25
po 4293+ 0.0
p1 -35.94 £ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

Tinug r31e+U5/ 25
4279+ 0.0
-35.81+ 0.00

PR R SR |
50 100

TP delay [ns]
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3000
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1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

X~ 1 nuiL Buze+u4 [ 25
- po 4256+ 0.0
[ p1 -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

-y 28ze+04 [ 25
pO 4310+ 0.0
p1 -36.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

T nun19se+u6 / 25
po 4286+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

Ty, zze+05 | 25
pD 4289+ 0.0
pl -36.34+ 0.00

PR R R S R |
50 100

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (3,6,3

A~ 1 nuig.gule+ud / 25
- po 4242+ 0.0
pL -34.6 + 0.0

[ C =28.91 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,7

= nu5/4e+us [ 25
= po 4312+ 0.0
p1 -37.73+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T, m/e+u6/25
pO 4301% 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

1 nuws.p4ze+U5 / 25
pO 4280+ 0.0
p1 -35.43+ 0.00

TP delay [ns]
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1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

X~ 1L sr1e+U4 /25
po 4248+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

- L 70ze+u4 [ 25
po 4257+ 0.0
pl -35.45+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (3 7,8

i 5use+U5 / 25
pO 4264+ 0.0
pl -36.91+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (3,7,12

1 1up.pode+U5 / 25
pO 4267+ 0.0
pl -34.55+ 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1

A 1L bzaerud | 25
e, po 4253+ 0.0
pL -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

“rnan zuse+ud | 25
e, pO 4246+ 0.0
p1 -34.77+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

TinuiLz/1e+U6 / 25
po 4281+ 0.0
p1 -36.31+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

T inug s5/e+U5 / 25
e, pO 4253+ 0.0
p1 -34.87 + 0.00

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,7,2)

X~ 1L br3e+ud [ 25
po 4270+ 0.0
p1 -36.07 £ 0.00

TP delay [ns]

TVC(cbch) (3,7,6

-y 381e+04 [ 25
pO 4263+ 0.0
p1 -35.82+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 7, 10

T nuizuse+U6 / 25
po 4291+ 0.0
p1 -36.46  0.00

TP delay [ns]

TVC(Cbch) (3, 7 14

- 1wy zove+Us / 25
pD 4253+ 0.0
pl -34.28+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

A1 nuiz 1z3e+u4 [ 25
po 4268+ 0.0
pL -35.37+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

- nui, 719e+05 / 25
po 4273+ 0.0
p1 -35.55+ 0.00

TVC(c,b ch) (3, 7

TP delay [ns]

- Mg, 4yue+u6 125
pO 4288+ 0.0
p1 -36.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

1 nu.4u3e+U5 / 25
pO 4260+ 0.0
-35.27 + 0.00

TP delay [ns]
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4000

3000
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1000

4000

3000
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1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

X~ 1 rspe+U4 [ 25
po 4274+ 0.0
p1 -37.28+ 0.00

TP delay [ns]

TVC(cbch) (38,4

- 1 390e+04 / 25
pO 4274 0.0
p1 -35.31: 0.00

[ C =28.32 [ps/ch] ]
o+ o
TP delay [ns]

TVC(cbch) (3 8,8

T L4z e+U5 / 25
pO 4303+ 0.0
pl -38.12+ 0.00

TP delay [ns]

TVC(Cbch) (3, 8 12

-1, 3use+Us / 25
pO 4282+ 0.0
pl -36.01+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000
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1000
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2000

1000

4000
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2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3.81)

T/ Lbye+ud /25
- pO 4250+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

-1 nuz.0use+ud / 25
e, pO 4261+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

1 nuiL 349e+U6 / 25
— po 4307+ 0.0
p1 -37.32+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

T 1 nuigoYe+Us / 25
pO 4281+ 0.0
pl -35.95+ 0.00

TP delay [ns]
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1000

4000

2000

4000

2000

1000

TVC(cbch) (3,8,2)

X~ 1L 91 /e+u4 [ 25
-, po 4253+ 0.0
[ p1 -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

T g4 /e+04 [ 25
4269+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 8, 10

1000

0

1 UL bBe+U6 / 25
- po 4311+ 0.0
[ p1 -37.64 + 0.00

3000

TP delay [ns]

TVC(Cbch) (3, 8 14

~ 1y zooe+Us / 25
froee, pD 4279+ 0.0
L p1 -36.22+ 0.00

3000

PR R R S R |
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,83)

i Soserud | 25
e pO 4284+ 0.0
pL -37.05+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

= 1 nu 034e+05 / 25
== po 4286+ 0.0
-36+ 0.0

TP delay [ns]

TVC(c,b ch) (3, 8

EEALEVX uwe+u6/25
e pO 4314+ 0.0
p1 -37.74+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 8 15

- i 534e+U4 [ 25
4296+ 0.0
-35.71+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (3,9,0

AT szie+04 /25
— po 4267+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(cbch) (39,4
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1000
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1000

TVC(cbch) (7.4,3

A~ 1 nuz.49se+u4 | 25
- po 4248+ 0.0
p1 -35.53 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

= 1 nu 3ve+ud | 25
= po 4285+ 0.0
p1 -36.81+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (7,4,

I C =28.67 [ps/ch] ]

1)
T nuiL s29e+U6 / 25
== 4288+ 0.0
-34.88 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (7, 4 15

T inuis 1zze+U5/ 25
= pO 4282+ 0.0
p1 -36.86 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

A7 1 nui s40e+04 / 25
- po 4238+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (7,54

[ C =28.98 [ps/ch]

T 1s1e+04 /25
= pO 4240+ 0.0
345+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

1, (oge+u4 | 25
4259+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

T 11ve+u5 / 25
= po 4288+ 0.0
pl -36.41+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000
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2000

1000

TVC(cbch) (7,51

AT 1 nuiLouve+ud [ 25
foee. po 4244+ 0.0
p1 352+ 0.0

TP delay [ns]

TVC(c,b ch) (7 55

- 1nui /zoe+u4 [ 25
- pO 4262+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

-1 nuiLpule+us / 25
= po 4269+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

Tinu.z/ze+ud [ 25
pO 4290+ 0.0
pl -36.58 + 0.00

TP delay [ns]
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1000
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2000

4000

3000
2000

1000

TVC(cbch) (7,5,2)

K™ 1 nuioyoe+u4 / 25
_- po 4264+ 0.0
o pl -35.78+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- rnuz 134e+04 [ 25
- pO 4257+ 0.0
[ pl -34.98+ 0.00

TP delay [ns]

TVC(cbch) (7, 5 10

1000

T nuy.y41e+U05 / 25
. po 4280+ 0.0
- pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (7,5,14

pD
pl

T w4y /e+u4 [ 25
4293+ 0.0
-37.02+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT rnuiL g rye+ud [ 25
- po 4270+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

S rnan 2386404 [ 25
- pO 4268+ 0.0
pL -35.29+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 5

T, 9a1e+u5/25
4283+ 0.0
-36+ 0.0

TP delay [ns]

TVC(C, bch) (7.5,15

T nui ssae+U5 / 25
po 4275+ 0.0
p1 -35.77 + 0.00

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A1 nuiz.uyoe+ud / 25
. po 4281+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

Tz 303e+04 / 25
- pO 4258+ 0.0
pl -35.33+ 0.00

3000 [ ]
2000~ ]
1000 N
| L -
50 00
TP delay [ns]
TVC(eb.ch)=(7,6,8)
© 1 nug.u44e+04 / 25
4000, pO 4238+ 0.0
-33.93% 0.00
3000~ ]
2000~ ]
oo C = 29.47 [ps/ch] s, 7]
. -

0

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

4000

3000

2000

1000

1 uip.BUbe+U4 / 25
= po 4249+ 0.0
pl -32.42+ 0.00

[C=30.85 [ps/ch] - ]
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50 100

TP delay [ns]
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TVC(cbch) (7.6,1

x- 1 iz, 1vae+ud | 25
P po 4283+ 0.0
pL -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

T nua (z3e+04 / 25
- pO 4277+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

T nuig r51e+U5 / 25
= 4267+ 0.0
-34.95+ 0.00

[ C =28.61 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (7.6,13

T inu. z3ve+ud [ 25
= pO 4286+ 0.0
p1 -35.3+ 0.0

TP delay [ns]
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1000
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1000
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2000

1000

TVC(cbch) (7,6,2)

K71 nuiz.uoae+u4 / 25
. po 4276+ 0.0
- pl -35.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

RNl 3e+04 /25
- pO 42911 0.0
[ pl -36.18+ 0.00

TP delay [ns]

TVC(cbch) (7, 6 10

1 nuig,8yze+U5 / 25
= po 4288+ 0.0
- pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (7.6,14

T nug.4z3e+04 [ 25
F pD 4300+ 0.0
L pl -36.48 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (7,6,3

AT 1z suse+u4 [ 25
e, po 4294+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

-1 nug byse+u4 / 25
- pO 4304+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

T 5Ube+U6/25
= pO 4273+ 0.0
p1 -34.74+ 0.00

[ C=28.79 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (7.6,15

-1 nuiLavoe+U5 / 25
= po 4288+ 0.0
p1 355+ 0.0

TP delay [ns]
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1000

TVC(cbch) (7,7,0

X~ 1w suse+U4 [ 25
= po 4257+ 0.0
-34.75+ 0.00

[ C =28.78 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (77,4

- iz, 0zze+04 [ 25
== po 4255+ 0.0
-34.8+ 0.0

[ C =28.73 [ps/ch]

50 10'0
TP delay [ns]

TVC(ebeh)=(7,7,8

T a3/ re+u4 [ 25
4268+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (7,7,12

T rnigzzie+05 /25
- po 4273+ 0.0
pl -37.27+ 0.00

-
TR

50 100

TP delay [ns]
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1000
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1000
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1000

TVC(cbch) (7,7.1

A7 1 nuiLbzye+u4 25
- po 4271+ 0.0
p1 -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

- 1nu 313e+04 / 25
- pO 4267+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVCEebeh)=(7,7, 9

T nuig 3 /ve+us / 25
= po 4278+ 0.0
pl -35.83 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 7 13

T naiLu4ze+u5 [ 25
- pO 4273+ 0.0
p1 -37.52+ 0.00

TP delay [ns]
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TVC(cbch) (7,7,2)

TP delay [ns]

TVC(cbch) (7.7,6

X~ 1z Or1e+04 [ 25
. po 4270+ 0.0
[ p1 -35.02:+ 0.00

3000

- rnuz, ye+ud | 25
- pO 4286+ 0.0
[ pl -36.17 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

1000

T p.8/e+U5 /25
- po 4283+ 0.0
[ p1 -36.12 + 0.00

TP delay [ns]

TVC(cbch) (7,7,14

TrnuiLzs/e+Us /25
- pD 4270+ 0.0
[ p1 -36.59+ 0.00

TP delay [ns]
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TVC(cbch) (7,7,3

A~ 1z blse+ud [ 25
e, po 4275+ 0.0
pL -35.28:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

1 nu, 734e+04 | 25
= po 4286+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

1)
T nuiLy/se+us / 25
- po 4292+ 0.0
p1 -35.72+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7 15

- I 1z 264e+U5 | 25
- pO 4270+ 0.0
pL -36.99+ 0.00

TP delay [ns]
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TVC(cbch) (7,8,0

A7 1nui ruse+ud / 25
- po 4216+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (7,84

- i BY4e+u4 / 25
e pO 4232+ 0.0
pl -35.63+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 8,8

©1nuig.449e+04 [ 25
po 4247+ 0.0
-35.06 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,812

T, ore+u4 /25
- po 4262+ 0.0
pl -37.14+ 0.00
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TVC(cbch) (7.8,1

AT nuLsse+u4 [ 25
- po 4229+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (7 8,5

-1 nuz.0zZoe+u4 / 25
e, pO 4240+ 0.0
pL -35.99+ 0.00

TP delay [ns]

TVC(c,b ch) (7 8,9

T inaiLz19e+U5 / 25
= po 4268+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(C, bch) (7.8,13

T nuzylve+ud [ 25
= pO 4269+ 0.0
pl -37.93+ 0.00

TP delay [ns]

TVC(cbch) (7,8,2)
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1000

A7 1nuiLyrae+u4 /25
- po 4230+ 0.0
L pl -35.34+ 0.00
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TP delay [ns]

TVC(cbch) (78,6

4000

3000

2000

1000

T rnuz331e+04 / 25
- pO 4246+ 0.0
3 pl -36.05 + 0.00

TP delay [ns]

TVC(cbch) (7, 8 10

4000
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2000

1000

©1nug.293e+U5 / 25
= po 4245+ 0.0
L pl -33.44 + 0.00

- C =29.91 [ps/ch] .. 1

b

1
50 100

TP delay [ns]

TVC(cbch) (7,814
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1000

Trnugyrze+ud | 25
= pD 4281+ 0.0
L p1 -38.13+ 0.00

3000

TP delay [ns]
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TVC(cbch) (7.8,3

AT 1 nuz.zsoe+ud [ 25
- po 4228+ 0.0
pl -34.71% 0.00

TP delay [ns]

TVC(c,b ch) (7 8,7

-1 nu buye+u4 / 25
- pO 4258+ 0.0
pL -36.51+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 8

T g, U‘Jbe+U5/25
e pO 4248+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(C, bch) (7.8,15

-1 nug sboe+ud / 25
- po 4279+ 0.0
p1 -37.55+ 0.00

TP delay [ns]
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1000

TVC(cbch) (7,9,0)

K™ 1 nui ozye+ud /25
po 4236+ 0.0
pl -38.97 + 0.00

TP delay [ns]
TVC(cbch) (7 9,4)
-1z z9ve+u4 | 25
= pO 4239+ 0.0
pl -36.93 ::‘
FC E
1 1 -'
50 100
TP delay [ns]
TVC(cbch) (7.9,8)
Tz e3/e+ud [ 25
=, po 4241+ 0.0
p1 -34.63 :;‘
[ C=28.88 [ps/ch] N\ ]
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (7, 9 12

T p.zae+ud [ 25
pO 4252+ 0.0
pl -34.89+ 0.00

TP delay [ns]
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TVC(cbch) (7,9,1)

S gy re+ud [ 25
pO 4232+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

=1 nu boge+u4 [ 25
4247+ 0.0
-36.4 + 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (7 9,9

~ 1 nug.yqoe+U5 / 25
po 4273+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(C, bch) (7,9,13

T nu,129e+ud / 25
pO 4253+ 0.0
pl -36.09 + 0.00

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (7,9,2)

A~ 1 nuiz 1uoe+u4 / 25
- po 4249+ 0.0
- pl -37.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (79,6

T rnuba1e+04 [ 25
- pO 4250+ 0.0
[ pl -36.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (7, 9 10

T g z3e+U5 / 25
= po 4263+ 0.0
- pl -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,914

Ty gse+u4 [ 25
= pD 4252+ 0.0
L p1 -35.58+ 0.00

3000

TP delay [ns]
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TVC(cbch) (7,9,3

AT 1 nuzoloe+ud [ 25
P po 4242+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,7

S rnan g.z25e+04 [ 25
e pO 4254+ 0.0
pL -36.78:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 9

oy mbems 125
- pO 4275 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(C, bch) (7,9,15

T inui g1ae+U5/ 25
= pO 4285+ 0.0
p1 -37.72+ 0.00

TP delay [ns]
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TVC(CbCh) (7, 10 0)

Trnuzzize+u4 [ 25
peo-. pO 4204+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (7.10,4

-1 nuz,uuse+ud / 25
= pO 4256+ 0.0
p1 -36.42:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 10 8

T, (zoe+u4 | 25
- pO 4264+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(cbch) (7.10,12

T 1o/e+U5 /25
= po 4277+ 0.0
pl -35.94 + 0.00

TP delay [ns]
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TVC(chh) (7,10,1)

AT 1nun zuze+ud [ 25
- po 4213+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(c, bch) (7.10,5

“nu1/1e+u4 /25
e pO 4248+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 10,9

~ 1 nuiL p4se+us / 25
= pO 4271% 0.0
p1 -36.04 £ 0.00

TP delay [ns]

TVC(cbch) (7.10,13

T nunn.oye+ud [ 25
= pO 4275+ 0.0
pl -36.45+ 0.00

TP delay [ns]
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TVC(CbCh) (7,10,2)

K™ 1nuiz1uie+u4 /25
— po 4213+ 0.0
L p1 -35.03+ 0.00

TP delay [ns]

TVC(cbch) (7.10,6

-1 nuz 358e+04 [ 25
- pO 4279+ 0.0
[ pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (7, 10 10

1000

1 nuiLzo4e+U6 / 25
= po 4290+ 0.0
L pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (7.10,14

T rnugz14e+04 [ 25
= pD 4266+ 0.0
L p1 -35.85+ 0.00

TP delay [ns]
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TVC(Cbch) (7,10,3)

A1 nwuiz449e+04 | 25
poes, po 4235+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(c, bch) (7.10,7

=1 nur Ubye+us / 25
- pO 4280+ 0.0
pL -36.73+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(7, 10, 11

~ 1 nur.y1Ye+Us / 25
= po 4275+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (7.10,15

Tonui1g/e+u5/ 25
- po 4275+ 0.0
p1 -36.4+ 0.0

TP delay [ns]
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TVC(CbCh) (7,11,0)

X~ 1w 1use+U4 [ 25
= po 4258+ 0.0
p1 -37.47 + 0.00

TP delay [ns]

TVC(cbch) (7, 11 4

T L bb/e+ud [ 25
- pO 4247+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(chh) (7, 11 8

-1 nug z48e+04 | 25
4261+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(c,b Ch) (7,11,12

X~ 11w bave+Us / 25
= PO 4280+ 0.0
pl -35.84+ 0.00

TP delay [ns]
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TVC(CbCh) (7, 11 1)

-1 nuiz.449e+U4 [ 25
e, pO 42511 0.0
pl -37.12:+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 11 5

Tonun18/e+04 /25
== 4271+ 0.0
-34.88 + 0.00

[ C =28.67 [ps/ch] 7]

50 150
TP delay [ns]

TVC(cbch) (7,11,9

Tinun.1//e+U5/ 25
= po 4279+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 11 13

T nuigsze+U5 / 25
- pO 4272+ 0.0
pl -35.79+ 0.00

TP delay [ns]
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TVC(CbCh) (7,11, 2)

X~ 1 iz ysze+u4 | 25
- po 4270+ 0.0
L pl -37.12+ 0.00

3000

TP delay [ns]

TVC(chh) (7, 11 6

Tz 13/e+04 [ 25
- pO 4274+ 0.0
[ p1 -34.56 + 0.00

- C = 28.93 [ps/ch]

50 10'0
TP delay [ns]

TVC(e.b,ch)=(7, 11, 10

X~ 1y 484e+05 / 25
- po 4289+ 0.0
[ p1 -36.02+ 0.00

TP delay [ns]

TVC(c,b Ch) (7,11, 14

A~ 1 nui szae+05 / 25
-, po 4281 0.0
L p1 -36.32:+ 0.00

TP delay [ns]
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TVC(Cbch) (7,11,3)

A~ 1 nuig,z3ye+ud [ 25
- po 4269+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(CbCh) (7, 11 7

-1 nu.us3e+ud / 25
= po 4266+ 0.0
pl -34.36 + 0.00

[ C =29.10 [ps/ch]

50 160
TP delay [ns]

TVC(Ebeh=(7, 11, 11

<1 nu.yuse+us / 25
= pO 4283+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 11 15

T nuiz.uloe+us / 25
- po 4275+ 0.0
p1 -35.48 + 0.00
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